FR28FEE T7IFaATFTIIILIRE HIEBFERZ (BF3rv FDER)

2016 &£ 3 B 16 B (k) g=hob)—9357
B4z B 2 42 e OUT | IN | GROSS| HDCP | NET B BEbEE & e OUT | IN |GROSS| HDCP | NET
B B A &R >57 40 40 80/ 10.8| 69.2 N EHF RB ATl 40 43 83 9.6/ 73.4
ZEH A0 1E FAEEI 4 44 85| 15.6/ 69.4 241 #1129 mEEIL 45 43 88 14.4] 73.6
ML MR mHEA DYT A 43 36 79 9.6/ 69.4 31 | HhE EE =BE 51 49/ 100/ 26.4] 73.6
Ma BNl EIA fit A 37 36 73 3.6/ 69.4 44 | —f8 &A Z Ak 47 47 94| 20.4] 73.6
S KB i — ik 44 40 84/ 13.2] 70.8 A5 HYF FE =65 48 40 88| 14.4| 73.6
66z 1L —F& = E 41 43 84/ 13.2] 70.8 4641 | IER = E 37 39 76/ 2.4/ 73.6
ML IF S AA—=7 43 40 83 12.0/ 71.0 4741 RYE 5hER FAEEIL 42 40 82 8.4/ 73.6
8 AR #Hm- FAEEIL 40 37 77 6.0 71.0 81 MTH R"E Yot 40 41 81| 7.2/ 73.8
O | HIR EEE -y 46 42 88/ 16.8] 71.2 4961 R BAA = E 45 48 93| 19.2| 73.8
1062 | 5p)Il &8 — ik 40 42 82| 10.8/ 71.2 50 H# FA ATl 46 41 87/ 13.2| 73.8
11462 | —35 Al bt 4 40 81| 9.6/ 71.4 51 BEM B2 Yot 44 43 87| 13.2] 73.8
1261 | KE R ENDH 43 44 87 15.6/ 71.4 h2fy |mis = v 41 40 81 7.2| 73.8
1367 BElE A =—A 42 45 87| 15.6/ 71.4 53 1A = =E 43 44 87| 13.2] 73.8
1461 BRE  BuUgE AA—=7 38 42 80 8.4/ 71.6 AL IRl E2 EDiE 42 38 80| 6.0/ 74.0
152 FFHN_ EiX AA—=7 44 42 86/ 14.4/ 71.6 554 UK =X =5 46 40 86/ 12.0/ 74.0
1661 &)l 3R9T =5 46 46 92/ 20.4 71.6 56 MH BX EX0):] 47 45 92| 18.0/ 74.0
1761 | KB & DYT A 4 39 80 8.4/ 71.6 51 RE #X FAEEIL 43 43 86/ 12.0/ 74.0
184 ik 1A B4 L 44 47 91 19.2] 71.8 58 #AJR  E1T Yot 47 45 92| 18.0/ 74.0
1961 %R St LE 39 40 79 7.20 71.8 59 EHE F=E Zin]lgk 42 38 80| 6.0/ 74.0
20 | K4 F08] EDi# 42 43 85| 13.2] 71.8 604 |lUA  {5AI Zin]lgk 43 43 86/ 12.0/ 74.0
21461 M FHE o 43 4 84/ 12.0/ 72.0 614 HH [EEH = E 42 49 91| 16.8| 74.2
2240 FEH # KSP 37 40 77 4.8 72.2 62 AR BE A= 45 46 91| 16.8] 74.2
234 |ErE FA| AA—=7 40 37 7710 4.8 72.2 63 #AE HFE J1)—2P5 M 38 79 4.8 74.2
4461 KE —if EDiE 42 40 82 9.6/ 72.4 6441 | KPE BT =5 39 39 78 3.6/ 74.4
254 =L NBA mEEIL 43 44 87/ 14.4] 72.6 654 Bt & = E 42 42 84 9.6/ 74.4
264 1)1l Rth AA—=7 43 38 81/ 8.4/ 72.6 664 FES J— =A 55 47 102| 27.6| 74.4
2146 | fEM 5h= =5 42 39 81 8.4/ 72.6 676 ma EF TRX 46 44 90| 15.6] 74.4
286 BEHFH FX AA=7 43 38 81 8.4/ 72.6 684 &Il X Yot 43 40 83 8.4 74.6
2961 /)l ER EDiE 43 44 87/ 14.4] 72.6 691 A 2 Yot 50 45 95| 20.4] 74.6
304z 4N EX =E 46 40 86/ 13.2] 72.8 106 |BE[R wE mEEIL 43 40 83 8.4 74.6
31 AER FEFD ATl 44 48 92 19.2] 72.8 6L |JHh &— =i 45 44 89| 14.4] 74.6
324 AR R AA—=7 50 42 92 19.2] 72.8 1261 A {E# AA—=F 45 38 83 8.4 74.6
¥ BXR Al KSP 35 39 74 1.20 72.8 1361 iR B LE 49 46 95/ 20.4| 74.6
M E EH KSP 46 45 91/ 18.0/ 73.0 TAGL #EfE =F EDH 51 38 89| 14.4] 74.6
bk =K EH =2 49 48 97/ 24.00 73.0 156 &Il #858 51)—2P5h 51 43 94| 19.2] 74.8
364 |{EBAHL IEEC =E 39 40 79 6.0 73.0 166 %8 BA Yot 51 43 94| 19.2] 74.8
376 P RRsE Yt 46 45 91 18.0/ 73.0 7761 |Fli #nFE = E 41 41 82 7.2| 74.8
384z | BFR  FlIEA FAEEIL 4 38 79 6.0 73.0 184 |#&%  {EXER DYTA 39 43 82 7.2] 74.8
96 | #AE E =2E 44 46 90| 16.8/ 73.2 196 | BF Hif =k 42 39 81 6.0/ 75.0
404 D EHR ZH 46 38 84/ 10.8] 73.2 804 |&#& i bt 45 48 93| 18.0/ 75.0
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FR28FEE T7IFaATFTIIILIRE HIEBFERZ (BF3rv FDER)

2016 &£ 3 B 16 B (k) g=hob)—9357
B4z B 2 42 e OUT | IN | GROSS| HDCP | NET B BEbEE & e OUT | IN |GROSS| HDCP | NET
8141 |FHA &— KSP 47 46 93| 18.0/ 75.0 121462 )1 BEE KSP 43 43 86/ 9.6/ 76.4
82 HH —X& KSP 46 4 87 12.0/ 75.0 12261 | &K FE =2E 47 51 98| 21.6/ 76.4
83 HiE = KSP 47 51 98 22.8 75.2 12367 3REH {51 EDH 44 48 92| 15.6] 76.4
84 ILH ZHR= EDi# 38 42 80| 4.8/ 75.2 12461 |HjE B LE 44 48 92| 15.6] 76.4
85 AT M= =ZH 49 49 98 22.8 75.2 12501 IR EX Yot 42 44 86 9.6/ 76.4
864 FH E KSP 43 37 80| 4.8/ 75.2 1264 |fAR  HE AA—7 47 44 91| 14.4] 76.6
874 L BT J1)—rPb4 53 45 98 22.8/ 75.2 12761 A RE HBH 48 43 91| 14.4] 76.6
884 |ZH R =65 45 41 86/ 10.8/ 75.2 1284 |/\IX & KSP 46 44 90| 13.2| 76.8
894 |FM & Yot 47 44 91| 15.6/ 75.4 129462 | AH B AA—7 52 50, 102] 25.2] 76.8
90 [ EERE E-XY IR 4 38 79 3.6/ 75.4 1304 4K & Yot 49 40 89| 12.0/ 77.0
914 HH MR ATl 45 46 91 15.6/ 75.4 131461 5T RSB AA—7 51 44 95/ 18.0/ 77.0
9241 BEE EX AA—=7 43 42 85| 9.6/ 75.4 13261 e Z‘X KSP 52 43 95/ 18.0/ 77.0
WL | EH EFE EDi# 49 42 91 15.6/ 75.4 1334 | HE & IYTA 45 50 95/ 18.0/ 77.0
946 ER 2 E—-XJ2HR 49 48 97/ 21.6/ 75.4 134461 #4347 & = E 49 52/ 101 24.0/ 77.0
9541 | H)Il  HERRE EDi# 44 46 90 14.4/ 75.6 13507 |FikE 18 IYTA 4 42 83 6.0/ 77.0
964z ATKE AR AA—=7 40 38 78 2.4/ 75.6 1364 | REF MEE FmEE/L 49 45 94| 16.8/ 77.2
974 ¥TH  Eif ENH 43 41 84/ 8.4/ 75.6 1374 |F0H &A Yt 50 50 100/ 22.8| 77.2
98fr fFHE &= ot 42 42 84/ 8.4/ 75.6 1384 |IRE =7 A= 48 46 94| 16.8| 77.2
9 | KF &EH bt 42 36 78 2.4 75.6 13942 |ApEk IFHA =E 43 39 82 4.8/ 71.2
1004z |UGHT Eh Yot 45 39 84 8.4/ 75.6 1404 | BH B EDi# 38 44 82 4.8/ 71.2
1014 | &% Rl J1)—2Pb4 44 52 96/ 20.4/ 75.6 14146 a8 IEE EDi# 45 49 94| 16.8] 77.2
1024 | FEAR B LE 45 44 89| 13.2] 75.8 142431 |FBK 3B KSP 47 46 93| 15.6/ 77.4
1034 | IAR RiE fit A 45 44 89| 13.2] 75.8 14361 8935 —HR YT 4 45 54 99| 21.6] 77.4
10441 |1B/R  f8— ] 4 48 89| 13.2] 75.8 14461 | KA 8| Yot 42 45 87| 9.6/ 77.4
10547 | B3I —i& mEEIL 43 46 89| 13.2] 75.8 1454 | #%H =) = E 50 43 93| 15.6] 77.4
1064 | ZH &F LE 43 40 83 7.2/ 75.8 1464 | 2R FIX ool 37 44 81| 3.6/ 77.4
107462 /M1 Bk KSP 42 40 82/ 6.0/ 76.0 147461 5kfE Ba s 51 48 99| 21.6] 77.4
10847 |#AR  BA mEEIL 44 44 88/ 12.0/ 76.0 1484 |[1BBAR  JEsE 51)—2P5h 48 51 99| 21.6] 77.4
1094z |=H 5A Yot 48 52 100/ 24.0/ 76.0 14961 | h#t M= = E 49 49 98| 20.4| 77.6
1104 |H33 EER EDiE 46 42 88/ 12.0/ 76.0 1504 | Rt % = E 47 39 86| 8.4/ 77.6
1z B JEE o 46 48 94 18.0/ 76.0 151467 | —% mEEIL 41 44 85| 7.2/ 71.8
241 (M =5 E—XYTHUR 42 40 82/ 6.0/ 76.0 152431 i 7318 =ik 50 53/ 103/ 25.2] 77.8
11367 AR #a AA—=7 50 49 99 22.8 76.2 1534 KR =2 ft A 46 45 91| 13.2] 77.8
144  BEEF =E =5 45 42 87/ 10.8] 76.2 15461 | = {EA KSP 48 48 96/ 18.0/ 78.0
11561 | K¥t Z= Yot 52 47 99| 22.8 76.2 15547 |*FH HEB B4 L 42 42 84/ 6.0/ 78.0
1164 | 8K Bih KSP 47 52 99| 22.8/ 76.2 1564 1 BXR E—X1y24 46 44 90| 12.0/ 78.0
74 ) S AT 47 46 93 16.8 76.2 15761 AT BE Yot 45 50 95/ 16.8] 78.2
184z 5% E#t E—XJ H R 46 41 87/ 10.8/ 76.2 1584 |#ERT S =B 49 52 101 22.8 78.2
1194 | KR mI3R ENDH 45 42 87/ 10.8/ 76.2 1594 | ¥R E= =B 51 50, 101 22.8 78.2
1204 | AfREH #X EDH 48 39 87/ 10.8/ 76.2 1604 #HH & =ik 48 53/ 101 22.8 78.2
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FR28FEE T7IFaATFTIIILIRE HIEBFERZ (BF3rv FDER)
2016 &£ 3 B 16 B (k) g=hob)—9357
B4z B 2 42 e OUT | IN | GROSS| HDCP | NET B BEbEE & e OUT | IN |GROSS| HDCP | NET
161467 R BAR DYT A 47 48 95 16.8 78.2 18141 B £5 51)—2P5h 41 42 83 2.4/ 80.6
1624 | K@ ZEFA J1)—>P54 42 47 89/ 10.8/ 78.2 18241 | )l E1T AA—7 50 50/ 100/ 19.2/ 80.8
16361 3hpk Fib AT 45 43 88 9.6/ 78.4 1834 |{1£E FX 51)—2P5h 54 51| 105| 24.0/ 81.0
1644 BBk EfE Yot 49 50 99| 20.4/ 78.6 1844 |BAFH FOE J1)—2P5 59 58 117/ 36.0/ 81.0
1654z | ER &R KSP 49 55/ 104| 25.2| 78.8 1854z #EH % ENH 57 54/ 111] 30.0/ 81.0
16642 HAL FEH Yot 45 53 98| 19.2/ 78.8 18642 |41 ZEAE E—XY>4 56 42 98| 16.8/ 81.2
1674 |KFH 127 AA—=T 42 49 91 12.0/ 79.0 1874 | REE X LE 54 49  103| 21.6/ 81.4
1684 0  IEtE ENDH 46 51 97/ 18.0/ 79.0 1884 |/NFE B BE 46 49 95/ 13.2| 81.8
1694 FHPE 1 J1)—>P54 46 51 97| 18.0/ 79.0 1894 | FHFAX #¥a Yot 50 55| 105| 22.8 82.2
17047 BEH FE J1)—2Pb4 48 55| 103| 24.0/ 79.0 1904 i & ftA 50 49 99| 16.8] 82.2
17141 A K& DYT A 48 42 90/ 10.8/ 79.2 19147 R EH ED# 50 54/ 104] 21.6| 82.4
17261 B IE4T AA—=7 46 49 95 15.6/ 79.4 1924 |&A  F0th IYTA 48 52/ 100/ 16.8 83.2
17361 | BT 183K Yot 46 47 93 13.2] 79.8 1934 |f7H & IYTA 50 49 99| 15.6]/ 83.4
1744 | H)I IEiE EDi# 48 51 99 19.2] 79.8 1944 |EH F—H8 IYTA 47 57/  104] 20.4| 83.6
17561 | = EE mEEIL 46 40 86 6.0 80.0 1954 |37)1] BT J1)—P5h 69 48/  117| 28.8 88.2
1764 |F%FE  #R1T AA—=7 46 40 86/ 6.0/ 80.0 1964 RITEH G FAEEIL 50 48 98] 8.4/ 89.6
17761 | KR fg— Yot 51 52/ 103 22.8 80.2 197461 /NE B A4 YL 60 57 117/ 25.2] 91.8
17861 |7rH %A ATl 45 46 91 10.8 80.2 19861 KT Rl Zin]lgk 54 77 131] 34.8/ 96.2
1796 =3 ®%H3 KSP 53 54/ 107| 26.4/ 80.6 1994 B3k Al A4 70 74 144 36.0] 108.0
18042 A E {4 LE 49 52/ 101/ 20.4/ 80.6 N RER & FEEEIL -99.9/ 99.9
N R|KIE ##H EDH -99.9/ 99.9
N REF =i =2 E -99.9/ 99.9
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